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Question (1) (20%) 2 Nao Fo
e My
D
For the truss shown in Fig (1) E E TF /L
draw influence lines for the N &
marked members A, B,C.D.E.F ¥ 6 x 4=24.00m v
Fig(1)
: 5 2 t/m
The shown steel column carries a uniform load Y Loom
2 t/m and an out-of plane lateral load P of 3t ’
Determine analytically and check graphicalily = L _Loom | ﬁ P, S
the directions and stresses on the principal normal £ 4
and principal shear planes at point (a) of section p20em
5-8 shown in Fig. (2). Sec. S-S P=3.00t
2 Fig(2)
Question (3) {20%) ?I
Find the shear center of the
section shown in Fig. (3) by =lem g
using the shear flow diagram Fig(3) N
: g A Qy=1.0ton
Question (4) (20%) S . oem
— -7

Nails are used to connect the two wooden planks to make them

act as one beam as shown in Fig. (4), Calculate the spacing (p) of

the nails if Qy=1.00 ton and the allowable shearing force per nail
15 50 Kg.
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Question (5) (20%) c V4 #

Using the method of virtual work, calculate b
the vertical deflection of point d for the frame
shown in Fig. (5)

4.0m

ET (part abed)=50,000 m2.t Fig.(5)
EA (1ie)=40,000 t
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the directions and stresses on the principal normal 8
and principal shear planes at point (a) of section * 20em
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Question (3) (20%) 5
N
Find the shear center of the
section shown in Fig. (3) by Slem ¢
using the shear flow diagram Fig(3) B
3.,:
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Question (4) (20%) p2y 100y . 30em
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Nails are used to connect the two wooden planks to make them
act as one beam as shown in Fig. (4). Calculate the spacing (p) of
the nails if Qy=1.00 ton and the allowable shearing force per nail &
is 50 Kg. + Fig(4)
. R 5¢m
Question {5) (20%) s
Find the minimum permissible diameter d for the
circular shaft shown in Fig. (5) if the allowable
shearing stress = 500 kg/cm?2. . T o
. , I . .
Hence, find the maximum angle of twist. ﬁ\* /Em -
G= 500 tiem? 3 § V2!
g s 00m L 2.00m }"

Fig.(5)
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